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Ozonolysis is the only reaction that

breaks EC bonds

1 N LEE a
H

H H

2 IT I text't

Notice the
numbers

are added at
numbers

Numbers 17,03
these reagents are
added in 2 separate
steps



Hydrogenation:  H2 with Pt°, Pd°, Ni°

H H H H

CC

H3C

H

H

H

H H H H

H H HH H

Products

H H H H

Pt°, Pd°, Ni° metal particle surface
H

H
H

H

H2 / Pd°

Example:

Summary:

Regiochemistry:

Stereochemistry:






































































































Eat state

0 00 00

If ifeng.it

HEE Est
HIE faitH y syn 4

H2 adsorbs onto the metal surface
The alkene adsorbs onto the metal surface
H atoms transfer to both atoms
on the same face before the C C bond rotates

N A

Syn
CHz Tritch Not

CH Ee gift
Chiral

Alkene Alkane






































































































Examples

m th n

II I
Racemic






































































































Important definitions for organic
chemistry

Oxidation Reaction Net loss of electrons
A reaction involving loss of bonds
to It atoms and or increase in

the number of IT bonds or bonds

to O atoms

Reduction Reaction Net gain of electrons
A reaction involving an increase

in bonds to It atoms and or

a decrease in the number of
H bonds or bonds to 0 atoms

Clt CHCH Itis atÉÉHz

oxidation reduction

at It case E onreduction






































































































Exam 2 will not cover anything
below the line

You do not need to know this

next reaction but I am going
to show it to you for reference

Alkene I.tl 1Ht27 Alcohol

Markovnikov Cannot
Mixed rearrange

Example

ItÉE It
Racemic



CH CEC H NH CH CEC H NH

pka 25 Strong pka 40

base

T.EE
favored at equilibrium



Epic New Reaction

CH CEC.EC CHICH2FI CHs
CEfcHacHaCH B

A primary we made a
halo alkane C C bond

Time capsule This is an S2
reactionThe halo alkane must
be primary to avoid an E2

reaction

Making C C bonds allows us

to construct larger molecules
t.nu

iA
organic synthesis






































































































Example

4,1
I equivalent of Nantz

2 Itr
t EEMEU

MI at t






































































































Alkynes the two orthogonal pi
bonds define alkyne
reactions

R CEC R
Same overall

personality as alkenes

A Reaction with 2 equivalents of k
Yee Br

Br
ReactionCH CEC H H c f canAnti Bf stop
here

I
CH CBE CH Br
Vicinal tetra halide

Yonnadjacent
carbon atoms






































































































B Reaction with 2 equivalents of H X

X ee Br

CH CE it feet
I Hee

CH Cela CH

Mechanism involves a cation intermediate

Markovnikov's rule followed
However the two X atoms always

end up on the same carbon










































































































c Conversion of a vicinal di halide

into an alkyne
H Br 2 equivalents

43 5,4
4
3 Is HE CECH

9
Vicinal di halide Note this alkyne

is at terminal

htIntend

Time capsule This is a

double EZ reaction




